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6HJDOD� SXML� GDQ� V\XNXU� EDJL� $OODK� 6:7� \DQJ� WHODK� PHOLPSDKNDQ� UDKPDW��

NDUXQLD�� GDQ� KLGD\DK�1\D�� VHKLQJJD� SHQHOLWL� GDSDW� PHQ\HOHVDLNDQ� VNULSVL� \DQJ�

EHUMXGXO�³3HQJDUXK�0DUNHW�2ULHQWDWLRQ WHUKDGDS�.LQHUMD�3HUXVDKDDQ�GHQJDQ�,QRYDVL�

VHEDJDL� 9DULDEHO� ,QWHUYHQLQJ� �6WXGL� .DVXV� ,QGXVWUL� (NRQRPL� .UHDWLI� 6XEVHNWRU�

)DVKLRQ� GL� 6RFLDO� &RPPHUFH .RWD� %DQGXQJ�´�� 6NULSVL� LQL� GLVXVXQ� XQWXN�

PHQ\HOHVDLNDQ� 6WXGL� -HQMDQJ� 6WUDWD� �� �6��� -XUXVDQ� 0DQDMHPHQ� %LVQLV�

7HOHNRPXQLNDVL� GDQ� ,QIRUPDWLND�� )DNXOWDV (NRQRPL� GDQ� %LVQLV� ,VODP� 7HONRP�

8QLYHUVLW\�

3HQHOLWL� PHQ\DGDUL� VHSHQXKQ\D�� WHODK� EDQ\DN� PHQGDSDWNDQ� GXNXQJDQ��

ELPELQJDQ� GDQ� GRURQJDQ� GDUL� EHUEDJDL� SLKDN� \DQJ� WHODK� PHQ\XPEDQJNDQ� SLNLUDQ��

ZDNWX��WHQDJD��GDQ�VHEDJDLQ\D��2OHK�NDUHQD�LWX��SDGD�NHVHPSDWDQ�LQL�GHQJDQ�VHWXOXV�

KDWL�SHQHOLWL�PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD�

�� 3LKDN�SLKDN�\DQJ�EHUNDLWDQ�GHQJDQ�LQGXVWUL�REMHN�SHQHOLWLDQ�VD\D

�� 2UDQJ�WXD�GDQ�NHOXDUJD�\DQJ�VDQJDW�VD\D�FLQWDL

�� 6UL�:LGLDQHVW\��67���00��VHODNX�GRVHQ�SHPELPELQJ�DNDGHPLN WHUFLQWD

�� 6LWWL� 0DV\LWKDK +DWWD� 3XD� 8SD�� 0�� *LDQ� 5HVQX�� 0�� +DELE� 6D]DO\�� ,QWDQ�

5DKPD\XQL�� 6DOPD� 'KL\D�� $OILDQ� +XGD�� 0DQDV\HOLWD� 'LDQ�� WHPDQ� VDWX�

ELPELQJDQ�GDUL�MDPDQ�PHWRGH�SHQHOLWLDQ�VHODOX�EDUHQJ

�� &KDQGUD�� $OL\D� 6DOPD�� $LV\DK� $]]DKUD�� 5LVQD� 1XU� )DMULDQL�� +DELE� 6D]DO\�

�VDKDEDW�VXND�GXND����WDKXQ�NXOLDK�WDQSD�NDOLDQ�WLGDN�EHUDUWL�DSD�DSD�


